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Class	10	coordinate	geometry	all	formulas

All	formulas	of	coordinate	geometry	class	10	cbse.

MCQS	On	Class	10	Maths	Chapter	7	–	Coordinate	geometry	is	provided	here	to	prepare	the	cbse	10	Â°	exam	of	the	Maths	card	2021-2022.	We	are	providing	here	the	Multiple	Choice	Type	(MCQ)	questions	about	CBSE	Class	10	Maths	Chapter	7:	Coordinate	Geometry.	All	of	these	questions	are	provided	to	help	students	easily	review	important	basics
to	prepare	the	Target	type	questions	for	CBSE	CLASS	10	Maths	Term-I	Exam	2021-2022.	You	will	also	get	accurate	answers	for	all	questions	here	with	detailed	solutions/explanations.	Check	under	MCQs	solved	by	Class	10	Maths	Maths	Chapter	7	Coordinates	Geometry:	1.	If	the	distance	between	the	points	(2,	Ã¢	â	̈”2)	and	(Ã¢	â	̈¬”	1,	x)	is	5,	one	of
the	values	of	x	is	(A)	Ã¢	â	̈	2	(b)	2	(c)	â	̈	1	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Â	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	̈	Ã	̈	Ã	̈	(D)	1	answer:	(B)	Explanation:	Second	question	2.	the	midpoint	of	the	segment	joining	points	a	(a	2,	8)	and	b	(Ã¢	â	̈¬	“6,	Ã¢	â	̈”	4)	is	(A)	(Ã¢	â	̈	̈	“4,	Ã¢	â	̈	̈”	6)
(B)	(2,	6)	(C)	(A	4,	2)	(4,	2)	answer:	Ã	̈	(C)	Explanation:	Let	the	coordinates	of	the	center	point	be	(x,	y)	So	the	coordinates	are	3.	The	points	A	(9,	0),	B	(9,	6),	C	(Ã¢	â¬	“9,	6)	and	D	(Ã¢	â¬”	9,	0)	are	the	vertices	of	an	(A)	square	Ã	Ã¢	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã	Ã	Ã	Ã	Â	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Tangolo	(C)	RhombusÃ	̈	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	A	(B)
Explanation:	Here	we	will	calculate	the	measure	of	all	four	sides	of	the	quadrilateral	fromed	by	the	given	points	A	,	B,	C	and	D.	Since,	AB	=	CD	and	BC	=	AD	therefore	gave	points	A,	B,	C	and	D	are	the	vertices	of	a	rectangle.	4.	La	distancia	del	punto	P	(2,	3)	dalaxis	x	Ã	̈	(A)	2	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	(B)	3	(C)	1	D)	5	Answer:	Ã	̈	(b)	Explanation:	Distance	of	point	P	(2,	3)	from	the	X	axis	=	order	of	point	(2,	3)	IE3.	5.	The	distance	between	the	points	A	(0,	6)	and	B	(0,	Ã¢	â	̈”2)	Ã	̈	(A)	6	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	(B)	8	(C)	4	A	(B)	Explanation:	Here,	x1	=	0,	y1	=	6,	x2	=	0,	y2	=	Ã¢	â	̈”2	6.
Aobc	is	a	rectangle	whose	three	vertices	are	vertices	A	(0,	3),	O	(0,	0)	and	B	(5,	0).	The	length	of	its	diagonal	is	(A)	5	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Â3	(c)	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Â	Â	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â
Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â
Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	(c)	Explanation:	the	length	of	theIt	is	the	distance	between	the	AB	points.	Ã,	the	distance	is	calculated	as,	7.	If	P	(A	/	3,	4)	is	the	central	point	of	the	line	segment	that	joins	points	Q	(Ã	¢	â,¬	"6,	5)	er	(Ã	¢	Â	,	¬	"2,	3),	so	the	value	of	a	Ã¨
(a)	Ã	¢	â,¬"	4	Ã	¢	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	(b)	to	12	(c)	12	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	(d)	to	6	response:	ã,	(b)	Explanation:	How	(A	/	3,	4)	is	the	intermediate	point	of	Ã	¢	the	line	segment	that	joins
points	Q	(Ã	¢	â,¬	"6,	5)	er	(Ã	¢	â,¬"	2,	3	).	"	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã,	ã,	(b)	(y,	x)	(c)	(x	/	2,	y	/	2)	Ã	¢	Ã,	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã	â	â	â	â	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	answer:	ã,	Ã,	(a)
Explanation:	How	we	have	to	find	the	coordinates	that	are	equidistant	from	A	and	B,	let	the	points	(A,	b).	So	(A,	b)	will	be	the	midpoint	of	ab.	Therefore,	then	the	coordinates	are	(X,	Y)	9.	A	circle	designed	with	origin	while	the	center	passes	through	the	point	that	does	not	lie	inside	the	circle	(C)	(5,	Ã	¢	â,¬	"1/2	)	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	(d)	(6,	5/2)	Answer:	Ã,	(d)	Explanation:	if	the	point	It	is	located	in	the	inside	of	the	circle,	the	distance	of	the	point	from	the	center	should	be	less	than	the	radius	of	the	circle.	The	ray	of	the	circle	is	the	distance	between	the	origin	and	distance	of	the	point	between	the	origin	and	(-3/4,	1)	It	is
also	the	distance	of	the	points	(2,	7/3)	and	(5,	Ã	¢	â,¬	"1/2)	is	even	less	than	6.5	but	the	distance	of	(Ã	¢	â,¬"	6	,	5/2)	is	6.5.	So	the	point	(Ã	¢	â,¬	"6,	5/2)	is	not	inside	the	circle.	10.	If	the	distance	between	points	(4,	p)	and	(1,	0)	is	5,	so	the	value	of	P	is	(a)	only	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	â	â	â	â	â	â	â	Ã	Ã	¢	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã,	Ã,
Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	â	â	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Â	«ANSWER:	B	Explanation:	Ã,	to	the	question:	11.	The	area	of	​​a	triangle	with	vertices	A	(3,	0),	B	(7,	0)	and	C	(8,	4)	Ã	¨:	(a)	14	Ã	¢	Ã	¢	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã,	â	â	Ã	Ã,	(b)	28	(c)	8	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã	Ã,	Ã,	â	â	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Â	«Answer:	Ã,	(c)	Explanation:	The	triangle	area	is	calculated	as,	12.	The	point	that	divides	the	line	segment	that	joins	points	(7,	Ã	¢	â,¬"	6)	E	(3,	4)	in	relation	1:	2	is	internally	located	in	(a)	the	quadrants
i	quadrants	Ã	¢	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã	â	â	â	â	â	â	â	¢	adrant	(c)	III	quadrant	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	¢	Ã	¢	¢	¢	¢	¢	Ã	¢	¢	¢	¢	¢	¢	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã
¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	¢	Ã	Ã	Ã	Ã	Ã	Ã	Ã	¢	Ã	Ã	(d)	of	the	quadrant	IV	Answer:	(d)	We	let	the	point	is	(x,	y)	then,	using	the	section	formula,	the	point	is	(17/3,	-8/3)	which	is	located	in	the	fourth	quadrant.	On	the	13th	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	(b)	(5,	3)	(c)	(5,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	(d)	(13,	0)	Answer:	Ã,	(a)	Explanation:	Trise
point	required	which	divides	The	date	line	in	the	ratio	1:	2	is	14.	A	line	intersects	axis	Ye	axis	X	respectively	in	points	P	and	Q.	If	(2,	Â	Â	«The	central	point	of	PQ,	then	the	coordinates	of	P	e	Q	I	am,	respectively.	(A)	(0,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is	,	Ã,	Ã,	Ã,	ã,	(b)	(0,	10)	e	(Ã	¢	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	(d)	(0,	Â	«10	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is,	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	(d)	(d)	(d)	(d)	(0	â	â	â	«)	and	(4,	0)	Answer:	Ã,	(d)	Explanation:	When	the	line	intersects	the	axis	YE	the	X	axis,	the	coordinates	are	(0,	b)	and	(A,	0)	respectively.	Because	(2,	Â
«5)	is	the	median	point	of	the	axis.	Therefore,	therefore,	the	coordinates	are	(0,	Ã	¢	¢	10)	and	(4,	0).	15.	The	relationship	with	which	point	P	(3/4,	5/12)	divides	the	right	segment	that	combines	points	A	(1/2,	3/2)	and	B	(2,	Ã	¢	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	(b)	5:	1	(c)	1:	3Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	(d)	3:	1	answer:	Ã	,
(A)	Explanation:	Both	the	M:	n	Report	then,	depending	on	the	question:	All	MCQ	questions	mentioned	above	can	also	be	downloaded	from	PDF	from	the	following	link:	Also	check:	Ã,	CBSE	Class	10	Maths	MCQS	â	€	"All	The	chapters	important	articles	for	the	preparation	of	the	mathematics	examination	of	class	10	2021-2022:	to	help	the	s	Locks	to
review	their	class	10	mathematics	program	effectively,	we	have	created	some	important	resources.	These	resources	will	bring	you	the	extract	of	the	entire	program	so	that	you	can	remember	all	the	topics	and	important	concepts	in	a	short	time	before	the	exam.	The	links	to	the	article	are	provided:	cbse	class	10	maths	case	studies	for	all	chapters
(mcq	type)	cbse	class	10	maths	questions	and	important	answers	cbse	class	10	maths	solved	year	previous	questions	cbse	class	10th	maths	chapter-wise	important	formulas	,	theorems	and	properties	MCQs	from	Class	maths	Chapter	9	3	Â	«CoordinaÂ"	Geometry	is	provided	here	to	help	students	prepare	for	the	upcoming	math	exam.	MCQs	from	class
9	maths	CBSE	Chapter	3:	Geometry	1.	If	the	coordinates	of	a	point	are	(0,	-4),	then	it	lies	in:	a)	X	axis	b)	Y	axis	c)	At	the	origin	d)	Between	the	x	axis	and	the	y	axis	Answer:	(b)	Explanation:	Da,	x=0	and	y=-4.	So,	the	point	will	be	in	the	negative	y	axis	at	4	units	away	from	the	origin.	2.	If	the	of	a	point	(3,	0),	then	it	is	located	in:	a)	axis	x	b)	axis	y	c)	to
the	origin	d)	between	the	x	and	axis	y	axis	reply:	(a)	explanation:	since	©	X	=	3	EY	=	0,	the	point	will	be	at	the	positive	X	axis	with	3	units	from	the	origin.	3.	If	the	coordinates	of	a	point	are	(-3.4),	then	it	is	located	in:	a)	first	quadrant	b)	second	quadrant	c)	third	quadrant	d)	fourth	dial	response:	(b)	explanation:	since	x	=	-3	EY	=	4,	then	if	we	trace	the
point	on	a	plane,	it	is	in	the	second	quadrant.	4.	If	the	coordinates	of	a	point	are	(-3,	-4),	then	it	is	located	in:	a)	first	quadrant	b)	second	quadrant	c)	third	quadrant	d)	fourth	quadrant	response:	(c)	explanation:	since	x	=	-	3	EY	=	-4,	then	if	we	trace	the	point	on	a	plane,	it	is	located	in	the	third	quadrant.	5.	The	name	of	the	horizontal	line	in	the
Cartesian	plane	which	determines	the	position	of	a	point	is	called:	a)	Origin	b)	axis	x	c)	axis	y	d)	reply	dial	b)	6.	The	name	of	the	vertical	line	in	the	Cartesian	plane	that	determines	the	position	of	a	point	is	called:	a)	origination	b)	x	axis	x	c)	axis	y	d)	reply	quadrants	c)	7.	The	section	formed	by	the	horizontal	and	vertical	lines	that	determine	the	position
of	the	point	in	a	Cartesian	plan	is	called:	a)	origin	b)	x	c)	axis	y	d)	reply	dials	(d)	8.	The	intersection	point	of	the	horizontal	and	vertical	lines	that	determine	the	position	of	the	point	in	a	Cartesian	plane	is	called:	a)	origination	b)	x	axis)	Y	axis)	Answer	quadrants	(A)	9.	Points	(1,2),	(-2,	-3),	(2,	-3);	a)	first	quadrant	b)	they	are	not	in	the	same	quadrant	c)
third	quadrant	d)	fourth	dial	response	b)	10.	If	the	x	coordinate	of	a	point	is	zero,	then	the	point	is	located	on:	a)	first	quadrant	b)	second	Dial	c)	x	axis)	Y	axis	reply	(d)	11.ã,	the	points	(â	â	â	â	â	â	â	â	â	â	â	â	€	œIn)	are	located	in:	a)	first	quadrant	b)	second	quadrant	c)	third	quadrant	d)	fourth	dial	response	(	d)	12.ã,	the	point	(0,	«5)	is	located:	a)	on	the
XB	axis)	on	the	YC	axis)	in	the	first	quadrant	d)	none	of	the	previous	answers	(b)	13.ã,	the	™	sorting	all	points	on	x	axis	is:	a)	0	b)	1	c)	Â	«1	d)	any	natural	number	response	(a)	14.ã,	points	(1,	-2),	(1,	-	3),	(-4,	5)	(0,	0),	(3,	-3)	a)	Lie	in	Quadrant	III	B)	Lie	in	Quadrant	II	C)	Lie	in	Quadrant	IV	D)	Did	not	find	itself	in	the	same	answer	(D	)	15.ã,	if	the	X
coordinate	of	a	point	is	zero,	then	this	point	is:	a)	in	Quadrant	II	b)	in	the	dial	i	c)	on	the	XD	axis)	on	the	Y-axis	reply	(D)	16	.Ã,	if	the	Distanz	is	A	perpendicular	of	a	point	p	from	the	x	and	'axis	of	7	units	and	the	perpendicular	foot	is	on	the	negative	direction	of	the	x	axis,	then	the	point	p	has:	a)	coordinate	y	=	7	or	only	7	b)	coordinated	y	=	7	only	c)
coordinate	y	=	7	sole	d)	ã,	x-coordinate	=	Â	«7	reply	(a)	17.ã,	in	tracing	p	(3,	8),	q	(7,	5),	r	(3,	8)	and	T	(7,	9)	are	traced	on	the	graphic	card,	then	the	points	in	the	third	quadrant	are:	a)	p	and	t	b)	q	and	r	c)	only	r	d)	p	and	r	if	the	coordinates	of	the	colon	are	p	(Â	«7,	5)	and	q	(Â«	6,	9),	then	(a)	'3	b)	1	c)	'2	d)Response	(d)	19.	Abscissa	of	a	point	is	positive
in:	a)	I	and	II	quadrants	b)	I	and	IV	c)	only	quadrant	d)	II	only	Answer	(b)	20.	The	point	whose	order	is	8	and	lies	on	y-axes:	a)	(0,	8)	b)	(8,	0)	c)	(5,	8)	d)	|	(a)	21.	Coordinates	of	b	(â​​3,	â​​4)	Answer	(b)	23.	The	distance	of	the	points	(5,	0)	and	(â​​3,	0)	from	the	x-axis	is:	a)	â​​3	b)	5	c)	0	d)	2	Answer	(c)	24.	The	perpendicular	distance	of	a	point	P	(5,	8)	from	the
y	axis	is:	a)	5	b)	8	c)	3	d)	13	Answer	(a)	25.	One	point	(x	2	What	is	the	value	of	x?	a)	(â​​5,	â​​7)	b)	(â​​5,	7)	c)	(5,	â​​7)	d)	(5,	7)	Answer	(d)	MCQ	Questions	for	Class	9	math	with	answers
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